89. The circle C has cenfre A and radivs - The points P{1, —4) and 0(9, 10) are at either end of 2

diameter of C.

{a}) (1) Wiite down the coordinates of A.
(i) Showthat r= V’E -
(i) Write down the equation of C.

{4
(b} Verify thatthe point R(4, 11) Heson C. [2]
Fa"
{(e¢j Find OPR. [3]
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90. The circle C; has centre A and equation
x° —:—3-'3 +éx-2v-20= U..
{a) Find the coordinates of 4 and the radius of C;. [3]
{b) The Iime L has equation y = —x + 6. Find the coordinates of the points of intersection of L
and Cy. [£]
{¢c} The circle C, has zeatee (10, 6) and radius r. Given that G, and C, touch externally, find the
valne of r. [3]
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1. The cirele C , has centre 4 and equation
2P+ —Bre2y-15=0.
(@) Find the coordinates of 4 and the radins of C,. 3]
(b) The pomnt P has coordinates (7, 2) and hies on C,. Find the equation of the tangent fo C atF
4]
{c} The circle C, has centre B(i1, 14) and radms 8. A point @ lies on ) and 2 point R lies o2
C,. Find the shoriest possible length of the ine OR. [3]
June 2008
92. The circle Ches centre A and equation
- 2+ 37+ 4x—8y+ 10=0.
{¢) Fmd the coordimaes of A and the radius of C. [3]
{b) Theline L has equation .
x—3y+d=10.
Show that .18 a tangent to the circle C. 4
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